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RIS : 250727S0000450010010098 FARIN A : 2025-08-03 09:00 — 2025-08-03 19:00
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1 | 2507284501010600001 KT 4| 45052 Lkkskkknx5244 | AT EBIT LR Hh 2T T H/HHT. | 88 72.9 | —
2 | 2507284501010600002 | FRZEUT | 2 | 45052 Lkskscksirx874X | | PHASE BN 24t Hh 2T T HE/HI%T | 85 74.9 | —
3 | 2507284501010600003 | REE | & | 45052 kkickioiiordd63 | ] PU I LI~ rh T AU TR/ HIRTL | 19 74 —
4 | 2507284501010600004 | HEFT | “ | 45052 Lkksksix874X | | PHASE BT APt Hh 2T T TR/ HIHRTL | 88 73.7 | —
5 | 2507284501010600005 | ik 4| 45052 k0028 | PG AT I BT 2B w2 TH] 2507 F/HKTL | 83 | 75.4 | —
6 | 2507284501010600006 | FLAHIE | Z | 45052 1scksckiirx2129 | 7 PHASE BN B Hh 2T T HE/HT | 90 73.7 | —
7 | 2507284501010600007 | ZBHF5 | & | 45052 lssksckerkx5227 | ] PHASE BN B Hh 2 T HE/HIFT | 91 74.9 | —
8 | 2507284501010600008 | ZEENLL | & | 450923sksckwiork2541 | [ PHASEELIN 2B Hh =X I AT Hg/ WL | 87 73.8 | —
9 | 2507284501010600009 | THHR | L& | 450902sksickiiex2527 | PRSI B Hh 2T T TR/ IR | 85 75.4 | —
10 | 2507284501010600010 g 4| 45052 k0926 | PG AT I BT SR w2 T 2507 Hg/HKTL | 87 | 75.7 | —
11 | 2507284501010600011 | #FEiEE | 5 | 4505031217 | ] P S HL T 22 B% Hh 2T T HE/ T | 1T 75.3 | —
12 | 2507284501010600012 ik F5 | 45052 Isskowtoiorkok 7883 | ) P RS I AL I A B Hh 2T T HH/WIgT | 88 73.4 | —
13 | 2507284501010600013 | #HEF | & | 450721skerionex 7725 | ] P4 RSB E T 22 Hh =X I AT Hg/ WKL | 92 75.5 | —
14 | 2507284501010600014 R 3k | 45052 Isskewtoionok0922 | )P RS AT A B Hh 2T T HR/HIHRTL | 70 74.8 | —
15 | 2507284501010600015 | miHUE | 2 | 44088lsekkoiorior2446 | |7 P AT HL T 227 w2, TH] 507 H/HKTL | 58 | 75.4 | —
16 | 2507284501010600016 R[] 4| A11528%kskkkxx2929 | AT BB IT 2L Hh 2T T HE/ LT | 94 74.8 | —
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17 | 2507284501010600017 | #ZKE | <& | 45051 2k%kkkkxk0580 | | Fh AT IH 4 2= P Hh 2T T HE /N | 87 74.4 | —
18 | 2507284501010600018 | XB/NFF | x| 45051 2skkiosek0529 | ) P8 AT I 45 i 2B e 2 T8 50T Hg/ LT | 91 73.1 | —
19 | 2507284501010600019 | ZF3C5F | 2 | 450521sekekickolk0526 | )7 PUASIHE 2B rh T AU TR/ HIHRTL | 80 73 —
20 | 2507284501010600020 | ¥ | 4 | 450521%kkrkork2126 | PHASIE LT B rh 2 T A5 F/ BT | % | g% | —
21 | 2507284501010600021 FINEH | 450503tk 1220 | PR L T B Hh 2T T TR/ AR | 91 75 -
22 | 2507284501010600022 | HER | Z | 450512%kskskksk1242 | ] PHACIHEL 2P Hh 2T T TR/ HIRTL | 88 73.8 | —
23 | 2507284501010600023 | FKICUEH | L& | 45052 1skkskksk7827 | | FHAC B HL 2P Hh 2 T HH/WIgT | 88 75.1 | —
24 | 2507284501010600024 | Bh<gi% | % | 450924xkerioriorkb62X | ) PUAZIE AN B Hh =X I AT Hg/ WKL | 83 73.9 | —
25 | 2507284501010600025 | REE3E | L | 450722kkickickk 1525 | | PG AT $5 T 2 F Hh 2T T TR/ IR | 73 73.1 | —
26 | 2507284501010600026 | XB#>2 | 4 | 450521%kkekonk0521 | PRSI AL T B v = T8 S5 T T/ KT | 82 75.4 | —
27 | 2507284501010600027 | XIiEEE | Z& | 45052 1%kkskkskd901 | ] PHAC BB I 2P Hh 2T T TR/ AIRT | 91 74.6 | —
28 | 2507284501010600028 | EAHTT | L& | 45052 1kkskksk0569 | | FhAC B HL I 2P Hh 2T T HH/ WL | 70 76.7 | —
29 | 2507284501010600029 | ZBHEAR | % | 450521kekiorionkb681 | ) PUAZ BT Fi Hh =X I AT H /WML | 88 73.8 | —
30 | 2507284501010600030 | FKENGE | L | 450521%kkkeksokx8326 | PG ACHE F i 2 e Hh 2T T TR/ HIHRTL | 88 76.5 | —
31 | 2507284501010600031 | ZEFH4E | 2 | 450521 kkopiorkd440 | | PHASIE LT B w2 T A5 T/ WKL | 61 76 —
32 | 2507284501010600032 | FEIFGE | & | 450502skkictockx0626 | | 75221 35 i 2% Hh 2T T TR/ HIRTL | 84 75.3 | —
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